THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION JUNE 4, 2014

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 4, 2014 at 5:00 p.m.

Members present: Jeffrey Kerman, President

William F. Connors Jr., Vice President

Deanna Bavlnka, Trustee Inger Germano, Trustee Irene Gische, Trustee Jonathan Kornreich, Trustee Susanne A. Mendelson, Trustee

Members absent: All were present

Also present: Cheryl Pedisich, Superintendent

> Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Anthony Gabriele, Student Representative to the Board

Visitors

CALL TO ORDER

Dr. Kerman called the meeting to order at 5:00 p.m.

MOVE INTO **EXECUTIVE SESSION**

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s) and current litigation.

RECONVENE INTO PUBLIC **SESSION**

The meeting reconvened into open session at 7:45 p.m. Anthony Gabriele led the pledge of allegiance.

CHANGES IN THE MEETING AGENDA

Remove:

Non-Instructional Schedule B.17a

Replacement Pages:

- Instructional Personnel Cover Page Instructional Personnel Schedule A.2
- Instructional Personnel Schedule A.5

STUDENT RECOGNITION Gary Vorwald presented certificates to members of the Gelinas Science Olympiad Team.

Sue McGuire, Derek Angermaier and Pam Pahua presented certificates to members of the Murphy Science Olympiad Team.

PUBLIC PARTICIPATION Debra Garnier, president of the clerical unit, spoke regarding the clerical union contract.

Jill Holmes spoke regarding the Monitors, Greeters, and Special Education Aides contracts.

Krista Martinsic spoke regarding the special education team.

MINUTES AND **BIDS**

and 20, 2014

Minutes of May 7 Be it RESOLVED that the Board of Education accept the minutes of its May 7 and 20, 2014 meetings.

> On Motion by Mr. Connors, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board accepted the minutes as presented.

Bids Exterior Mason

Exterior Masonry, Waterproofing and Site Drainage Reconstruction (Arrowhead and Minnesauke Elementary Schools) -C2349, Athletic Field Reconstruction (WMHS) - C2350,Masonry Reconstruction (WMHS, Murphy JHS and Gelinas JHS) C2351. Site Work Reconstruction (Gelinas JHS) C2352, Exterior Door Replacement (Minnesauke and Nassakeag) – C2353,

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award the bids as presented, with Bid Number C2352 and Bid Number C2354 being rejected.

REPORTS

Plumbing Reconstruction (Gelinas JHS) – C2354

Student Representative Report Anthony Gabriele reported on recent student achievements and upcoming events.

Bring Your Own Device Kerrin Welch-Pollera presented a report on Bring Your Own Device.

ITEMS FOR BOARD DISCUSSION

2013-2014 Calendar Mrs. Pedisich discussed an issue regarding the last three days of school for the elementary schools, noting that Wednesday June 25 and Thursday June 26 should have been noted as half days on the district calendar. In order to prevent any scheduling hardship for families, Mrs. Pedisich recommended that Wednesday and Thursday remain full days as indicated on the District Calendar, and Friday remain as half day as indicated on the District Calendar.

On motion by Mr. Connors, seconded by Ms. Mendelson, and carried by a 7-0-0 vote, the Board approved Mrs. Pedisich's recommendation.

INFORMATION ITEMS TO THE BOARD Ms. Bavlnka reported on recent student accomplishments.

ITEMS FOR BOARD ACTION

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following items:

- A check in the amount of \$6,000.00 donated to PJ Gelinas JHS' *Science Olympiad Allied Fund*. The donors wish to remain anonymous.
- A check in the amount of \$5,000.00 donated to PJ Gelinas JHS' *Science Olympiad Allied Fund*. The donors wish to remain anonymous.
- A check in the amount of \$300.00 donated by the Suffolk Association of School Business Officials in honor of Vinnie Cullen to be awarded as a scholarship to a deserving student who has chosen to pursue a business degree at a college or university.

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorize Participation in Cooperative Bids for Cafeteria and Food Supplies Upon recommendation of the Superintendent of Schools, be it RESOLVED that the attached resolution authorizing participation in cooperative bids for cafeteria and food supplies for the Child Nutrition Program for the 2014-2015 school year be approved and that the President of the Board of Education be authorized to execute same.

Authorization for Nassau BOCES Cooperative Bids for Supplies and Equipment Upon the recommendation of the Superintendent of Schools be it RESOLVED that the attached resolution authorizing cooperative bids for supplies and equipment for the 2014-15 school year be approved and that the President of the Board of Education be authorized to execute same.

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorization for Eastern Suffolk BOCES Cooperative Bids for Supplies and Equipment Upon the recommendation of the Superintendent of Schools be it RESOLVED that the attached resolution authorizing cooperative bids for supplies and equipment for the 2014-15 school year be approved and that the President of the Board of Education be authorized to execute same.

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Resolution to Terminate Use of Services Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the use of services of the individual named in the attached confidential Schedule "A", a District physician, is hereby terminated effective May 21, 2014.

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented

Appointment of School Medical Officer for CSE and CPSE Consultation Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve Dr. William Konczynin, Chief School Physician, as the School Medical Officer for CSE and CPSE consultations, effective May 21, 2014.

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Administrative Intern Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the request from the State University of New York at Stony Brook for an Administrative Internship for Jonathon Rufa. The internship will be at Murphy Junior High School and the North Country Administration Center.

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Resolution Abolishing Positions and Terminating Employees Having Least

Seniority

RESOLVED, that the Board of Education hereby abolishes the subsequent positions in the following Teacher job titles and teaching assistants, for the purposes of economy and efficiency.

Job Title	No. of Positions
Health Teachers	1.9
Family and Consumer Science Teacher	0.4
Business Teachers	0.5
Technology Teacher	0.3
Foreign Language Teacher	0.2
Teaching Assistant	1.0

Be it further RESOLVED, the employment of the aforementioned employees having the least seniority in the District, shall be discontinued, effective July 1, 2014. The following employees are hereby excessed:

Name Job Title

Cynthia Howard 0.6 Health Teacher

Ms. Howard was previously excessed at the August 27, 2013 meeting for a 0.4 reduction, (to a 0.6 position), effective June 30, 2013.

Jennifer Monahan 1.0 Health Teacher Kerri Kilkenny 0.3 Health Teacher

Chantel Pizzuto 0.4 Family & Consumer Science Teacher Ms. Pizzuto was previously excessed at the August 28, 2012 meeting for a 0.6 reduction, (to a 0.4 position), effective 6/30/12.

Alyssa Chesney-Gold 0.5 Business Teacher

Ms. Chesney- Gold was previously excessed at the August 27, 2013 Board of Education meeting for a 0.1 reduction, (to a 0.9 position), effective June 30, 2013.

Derek Angermaier 0.3 Technology Teacher

Nicolas Matros 0.2 Foreign Language Teacher

Marissa Lumley 1.0 Teaching Assistant

On motion by Ms. Germano, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RETIREMENT

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
Caine, Renee	Setauket Elementary	6/30/14	9/1/98
	Art Teacher		
Castiglie, Mary	Ward Melville	9/10/14	8/18/03
	Assistant Principal		
Hayes, Thomas	Ward Melville	6/30/14	9/1/98
	Foreign Language		
Owen, Michael	Ward Melville	6/30/14	11/1/89
	Assistant Principal		

RESIGNATIONS

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
Bernhard, William	Ward Melville	6/30/14	9/1/97
	Mathematics Teacher		
DePrimo, Brigit	Arrowhead Elementary	6/30/14	9/1/01
	Teacher		
Rimmer, Kristin	Arrowhead Elementary	6/30/14	9/14/04
	Teacher		
White, Kristen	Ward Melville	6/30/14	9/1/05
	Special Ed. Teacher		

LEAVES OF ABSENCE

<u>Name</u>	School/Assignment	<u>Effective</u>	Reason	<u>Tenured</u>
Burke, Laurie	MurphyJHS	2014-	Unpaid	Yes
	English Teacher	2015		
Cadolino, Angelo	Ward Melville	2014-	Unpaid	Yes
	Science Teacher	2015		

APPOINTMENTS TO ADMINISTRATIVE POSITION

Bernhard, William Secondary Principal

SUNY, Stony Brook - BS SUNY, Stony Brook - MS Dowling College- SAS

Previous Tenure – Yes – teacher Related to current employee - No

Salary: \$146,500.00 Effective: 7/1/14

This is a three- year probationary appointment with tenure due 7/1/17. This appointment is due to the transfer of the principal to the Three Village Academy. Mr. Bernhard will be assigned to Paul J. Gelinas Junior High School for the 2014-15 school year. Fingerprint clearance for employment is on file.

APPOINTMENT TO INSTRUCTIONAL POSITIONS

Murray, Jayne Registered Nurse

Adelphi University – BSN Previous Tenure – No

 $\label{eq:continuous_problem} Related \ to \ current \ employee - No \\ Salary \ Step/Level - 4/NURSE$

30% position

Effective -9/1/14 - 6/30/15

This is a one year part-time (.3) appointment. Ms. Murray will continue her assignment at the Montessori School for the 2014-15 school year. Fingerprint clearance for employment is on file.

Perotti, Jenna Special Education Teacher

SUNY Stony Brook - BA Dowling College - MS Previous Tenure - No

Related to current employee - No

Salary Step/Level - 3/MA

Effective - 9/1/14

This is a three-year probationary appointment with tenure due 9/1/17. This appointment is due to the retirement of Mary Coonerty. Ms. Perotti's building assignment for the 2014-15 school year will be determined at a later date. Fingerprint clearance is on file.

Pulaski, Joseph Special Education teacher

Gordon College - BA Previous Tenure - No

Related to current employee - Yes Salary Step/Level - 2/BA+30

Effective -9/1/14

This is a two-year probationary appointment with tenure due 9/1/16. This appointment is due to the retirement of Maureen Flynn. Mr. Pulaski is the son of Mr. Richard Pulaski, Executive Director of Pupil Personnel Services. Mr. Pulaski will be assigned to Arrowhead Elementary School for the 2014-15 school year. Fingerprint clearance for employment is on file.

Raphaely, Jacqueline Registered Nurse

Molloy College - BS Previous Tenure – No

Related to current employee – No Salary Step/Level – 12/NURSE

50% position

Effective -9/1/14 - 6/30/15

This is a one year part-time (.5) appointment. Ms. Raphaely will continue her assignment at the Laurel Hill School for the 2014-15 school year. Fingerprint clearance for employment is on file.

Rief, Meghan Special Education Teacher

East Carolina University - BS LIU Brentwood - MS Previous Tenure - No

Related to current employee - No Salary Step/Level - 1/MA Effective - 9/1/14 - 6/30/15

This is a one-year leave replacement appointment. This appointment is due to the leave of absence of Rebecca Marino. Ms. Rief's building assignment for the 2014-2015 school year will be determined at a later date. Fingerprint clearance is on file.

Savage, Harry Special Education Teacher

St. Joseph's College - BA Previous Tenure - No

Related to current employee - No Salary Step/Level - 1/BA+15

50% Position

Effective - 9/1/14 - 6/30/15

This is a one-year part-time (.5) appointment. This appointment is due to the replacement of Jenna Perotti. Mr. Savage will be assigned to The Laurel Hill School for the 2014-2015 school year. Fingerprint clearance is on file.

Wilhelmy, Samantha Special Education Teacher

St. Joseph's College - BA LIU Brentwood - MS Previous Tenure – No

Related to current employee - Yes Salary Step/Level - 1/MA

Effective -9/1/14

This is a three-year probationary appointment with tenure due 9/1/17. This appointment is due to the retirement of Sarajane Ilamathi. Ms. Wilhelmy is the daughter of Janet Furlani, Principal Clerk in Human Resources. Ms. Wilhelmy will be assigned to Setauket Elementary School for the 2014-15 school year. Fingerprint clearance for employment is on file.

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/TEACHING ASSISTANT POSITIONS

Substitute Teachers:

Catuosco, Dena

Fingerprint clearance has been received.

<u>Haufe, Kristin</u>
Ms. Haufe, previously Ms. Loeber, was on our substitute teaching list during the 2008-2009 school year.

Fingerprint clearance is on file.

Hill, Jeanne

Fingerprint clearance has been received.

Substitute Teaching Assistants:

Reinhart-Fitzpatrick, Kristine

Fingerprint clearance has been received.

APPOINTMENTS OF CO-CURRICULAR SPONSORS

Co-Curricular Clubs

Donald WMHS Math Team 2013-Ambrose \$1,224.00 \$1,224.00 2014

*** Mr. Ambrose took over as full advisor for the year after the resignation of Andrea Fischer.

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

<u>Last</u> <u>Name</u> School and	<u>First</u> <u>Name</u> Community P	Building artnerships	Assignment	<u>Effective</u>	<u>Stipend</u>	Rate	Not to Exceed
Title I							
Taldone	Catherine	North Ctry	Title 1 Grant Coordinator	2014- 2015	\$3,914.00		\$3,914.00
Title IIA							
Fargione	James	North Ctry	Instructional Technology Lead All Teachers Districtwide K-12	2014- 2015	\$4,540.00		\$4,540.00
Taldone	Catherine	North Ctry	Work on final program evaluation and fiscal reports for all grants and prepare 2014-2015 NYSED NCLB grant application and supplemental reports	7/1/2014- 8/31/2014		per diem salary rate up to 15 days	\$11,250.00
Adult/Conti	nuing Educati	<u>on</u>					
Ficarola	Mary	WMHS	Site Supervisor	2014- 2015	\$4,000.00		\$4,000.00
Prinzo	Anthony	WMHS	Adult/Continuing Ed. Program Coordinator	2014- 2015	\$12,500.00		\$12,500.00
Prinzo	Anthony	WMHS	Trip Coordinator	2014- 2015	\$1,000.00		\$1,000.00

APPOINTMENTS OF **HOURLY EXTRA ASSIGNMENTS**

<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Science Olym	piad						
Vorwald	Gary	Gelinas	Science Olympiad State Tournament Coach	4/3-4/6	\$ 150/night & \$300/day	3 nights, 2 days	\$1,050.00
Gerber	Monnica	Gelinas	Science Olympiad State Tournament Coach	4/3-4/6	\$ 150/night & \$300/day	3 nights, 2 days	\$1,050.00

^{***}This is a correction to the original board recommendation on 2/26/14. The tournament dates were submitted incorrectly.

AIS Services							
	Cl	WALLC	AIC I	M /I	¢ 52.60/h	20	¢1.052.00
Boltrek	Chris	WMHS	AIS June Regents Review Classes	May /June 2014	\$ 52.69/hr	20	\$1,053.80
Cadolino	Angelo	WMHS	Social Studies AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	6	\$316.14
Chereb	Samantha	WMHS	Science AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	6	\$316.14
Corleto	Jen	WMHS	Science AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	1	\$52.69
Dwyer	Alex	WMHS	Science AIS June Regents Review Classes Global	May/ June 2014	\$ 52.69/hr	5	\$263.45
Ekelund	Michelle	WMHS	Language AIS June Regents Review Classes Global	May/June 2014	\$ 52.69/hr	6	\$316.14
Flynn	Maureen	WMHS	Language AP Exam	May-14	\$ 52.69/hr	35	\$1,844.15
Gandt	Debbie	WMHS	Work AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	10	\$526.90
Harding	Keith	WMHS	English AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	1	\$52.69
Jourdain	Eric	WMHS	Science AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	1	\$52.69
Medina	Phil	WMHS	Science AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	8	\$421.52
Muller	Gisela	WMHS	Science AIS June Regents Review Classes Global	May/ June 2014	\$ 52.69/hr	4	\$210.76
Sandolo	John	WMHS	Language AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	6	\$316.14
Sussin	Eric	WMHS	Science AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	1	\$52.69
Weiner	Claudine	WMHS	Science AIS June Regents Review Classes	May/ June 2014	\$ 52.69/hr	1	\$52.69
Williams	Laura	WMHS	Science AIS June Regents Review Classes Science	May/ June 2014	\$ 52.69/hr	2	\$105.38
Chaperoning							
Pollera	Anthony	Murphy	Overnight + Weekend Day Chaperone - Music in the Parks - Hershey, PA Chorus/ Orchestra Competition	5/30/2014 - 5/31/2014	\$ 300 weekend day + \$ 150/night	1 Day/1 Night	\$450.00

Cinquemani	Taryn	Murphy	Overnight + Weekend Day Chaperone - Music in the Parks - Hershey, PA Chorus/	5/30/2014 - 5/31/2014	\$ 300 weekend day + \$ 150/night	1 Day/1 Night	\$450.00
Pickford	Brian	Murphy	Orchestra Competition Overnight + Weekend Day Chaperone - Music in the Parks - Hershey, PA Chorus/	5/30/2014 - 5/31/2014	\$ 300 weekend day + \$ 150/night	1 Day/1 Night	\$450.00
Gasparre	Angela	Murphy	Orchestra Competition Overnight + Weekend Day Chaperone - Music in the Parks - Hershey, PA Chorus/	5/30/2014 - 5/31/2014	\$ 300 weekend day + \$ 150/night	1 Day/1 Night	\$450.00
DeSantis	Christina	Minnesauke	Orchestra Competition 1:1 Supervision for Grade 5 Field Trip to The Bronx	5/19/2014	\$ 19.40/hr	6	\$200.00
Vaccaro	Carol	Minnesauke	Zoo 1:1 Supervision for Grade 6 Field Trip Getaway in	6/3/2014	\$ 19.40/hr		\$200.00
Baldo	George	WMHS	Connecticut Brainstormers Final	4/2/2014	\$40.48/hr	7	\$283.36
Murphy	Chris	WMHS	Tournament Brainstormers Final	4/2/2014	\$40.48/hr	7	\$283.36
Costanza	Caroline	Mount	Tournament TA Supervision	5/8/2014	\$ 19.40/hr	10	\$194.00
Liguori	Christine	Mount	Field Trip TA Supervision	5/8/2014	\$ 19.40/hr	10	\$194.00
Stavropoulos	Christina	Arrowhead	Field Trip Chaperone for	May &	\$ 40.48/hr	5	\$200.00
Alberti	Cathy	Arrowhead	Concert 1:1 Supervision NYC Field	June 2014 9/1/13 - 6/30/14	\$ 19.40/hr	3	\$58.20
Alvino	Rosemarie	Arrowhead	Trip 1:1 Supervision NYC Field	9/1/13 - 6/30/14	\$ 19.40/hr	3	\$58.20
Barone	Teresa	Arrowhead	Trip 1:1 Supervision NYC Field	9/1/13 - 6/30/14	\$ 19.40/hr	3	\$58.20
Byrne	Cindy	Arrowhead	Trip 1:1 Supervision NYC Field	9/1/13 - 6/30/14	\$ 19.40/hr	3	\$58.20
Byrne	Cindy	Arrowhead	Trip 1:1 Supervision NYC Field	9/1/13 - 6/30/14	\$ 19.40/hr	3	\$58.20
Hoffman	Sharon	Arrowhead	Trip 1:1 Supervision NYC Field	9/1/13 - 6/30/14	\$ 19.40/hr	3	\$58.20
Saraceni	Angela	Arrowhead	Trip 1:1 Supervision NYC Field	9/1/13 - 6/30/14	\$ 19.40/hr	3	\$58.20
Agostini	Nancy	Arrowhead	Trip 1:1	3/1/2014	\$ 19.40/hr	10	\$200.00
Continuing Edu	ucation - Sprin	ng 2014	Supervision				
Spoltore	John	WMHS	Digital SLR Techniques &	Spring 2014	(\$20 p/h)	8	\$160.00
Spoltore	John	WMHS	Accessories Point & Shoot Digital Camera	Spring 2014	(\$20 p/h)	4	\$80.00
Spoltore	John	WMHS	Photography Basic Digital Photo Editing	Spring 2014	(\$20 p/h)	4	\$80.00

Spoltore	John	WMHS	Portrait &	Spring	(\$20 p/h)	4	\$80.00
•			Lighting Digital SLR	2014			
Kelly- Edmunds	Anne	WMHS	Do the Write Thing	Spring 2014	(\$30 p/h)	8	\$240.00
Toga	Linda M.	WMHS	A Trust or A Will: Which is Right for You?	Spring 2014	(\$20 p/h)	3	\$60.00
DiSalvo	S. Joseph	WMHS	Retirement Planning Today TM	Spring 2014	(\$20 p/h)	5	\$100.00
Silverman	Jeffrey	WMHS	Keep Income Flowing During Retirement	Spring 2014	(\$20 p/h)	2	\$40.00
Pimentel	Eliel	WMHS	Managing Your Income in Retirement	Spring 2014	(\$20 p/h)	1.5	\$30.00
Silverman	Jeffrey	WMHS	Life Planning for Children with Special Needs	Spring 2014	(\$20 p/h)	2	\$40.00
DiSalvo	S. Joseph	WMHS	Savvy Social Security Planning for Baby Boomers	Spring 2014	(\$20 p/h)	2	\$40.00
Smith	George Ellsworth	WMHS	Annuities and Your Retirement	Spring 2014	(\$20 p/h)	1.5	\$30.00
Smith	George Ellsworth	WMHS	Foundations of Investing	Spring 2014	(\$20 p/h)	1.5	\$30.00
Pimentel	Eliel	WMHS	Taking Stock in the Market	Spring 2014	(\$20 p/h)	1.5	\$30.00
Smith	George Ellsworth	WMHS	College: Getting There	Spring 2014	(\$20 p/h)	1	\$20.00
Yantz	Patricia	WMHS	From Here Colored Pencil and Pastel	Spring 2014	(\$20 p/h)	10	\$200.00
			Drawing Techniques				
Yantz	Patricia	WMHS	Ways with Watercolor	Spring 2014	(\$20 p/h)	10	\$200.00
Yantz	Patricia	WMHS	Acrylic Painting Technique	Spring 2014	(\$20 p/h)	10	\$200.00
Crawford	John	WMHS	Woodcarving: Ornament & Figure	Spring 2014	(\$20 p/h)	16	\$320.00
Napoli	Frank	WMHS	Carving Woodcarving for the Beginner &	Spring 2014	(\$20 p/h)	16	\$320.00
Napoli	Frank	WMHS	Novice Woodcarving for the	Spring 2014	(\$20 p/h)	16	\$320.00
Bartunek	Alberta	WMHS	Beginner Ruffle Scarf	Spring	(\$20 p/h)	1	\$20.00
Bartunek	Alberta	WMHS	Crocheting -	2014 Spring	(\$20 p/h)	6	\$120.00
Parisi	Michael	WMHS	Beginners Oil and Acrylic	2014 Spring 2014	(\$20 p/h)	16	\$320.00
Parente	Jacqueline	WMHS	Landscapes Beginners Bead Making	Spring 2014	(\$20 p/h)	8	\$160.00
Caiati	Debbie	WMHS	Mah Jongg	Spring	(\$20 p/h)	30	\$600.00
Ricca	Laura	WMHS	Pastel	2014 Spring	(\$20 p/h)	10	\$200.00
Rogers	Ken	WMHS	Portraits Gardening	2014 Spring	(\$20 p/h)	16	\$320.00
Rogers	Arlene	WMHS	Basics Machine Quilting -	2014 Spring 2014	(\$20 p/h)	16	\$320.00
Rogers	Arlene	WMHS	Beginners Machine Quilting Intermediate	Spring 2014	(\$20 p/h)	16	\$320.00
Parente	Jacqueline	WMHS	Time to Bead	Spring 2014	(\$20 p/h)	4	\$80.00
Holmes	Jeanette	WMHS	Knitting -	Spring	(\$20 p/h)	20	\$400.00
Holmes	Jeanette	WMHS	Beginners Knit Block of	2014 Spring	(\$20 p/h)	10	\$200.00
Parente	Jacqueline	WMHS	the Week Beads - Memory	2014 Spring 2014	(\$20 p/h)	2	\$40.00
Parente	Jacqueline	WMHS	Bracelet Let's Bead	Spring 2014	(\$20 p/h)	4	\$80.00

McCaffrey	Nancy	WMHS	Food in a Jars Basics of High	Spring 2014	(\$20 p/h)	6	\$120.00
Gerard	Maria	WMHS	Acid Canning Spanish for the Traveler -	Spring 2014	(\$20 p/h)	18	\$360.00
Gerard	Maria	WMHS	Level I Spanish for the Traveler - Level II	Spring 2014	(\$20 p/h)	18	\$360.00
Strauss	Anne Marie	WMHS	Learn to Speak Clearly	Spring 2014	(\$20 p/h)	1.5	\$30.00
Strauss	Ann Marie	WMHS	Do You Speak "Lawn	Spring 2014	(\$20 p/h)	1.5	\$30.00
Foti	Joe	WMHS	Guyland?" Adult/Child/In fant CPR/AED	Spring 2014	(\$120 p/h)	3	\$360.00
Ryan	Mike	WMHS	Adult/Child/In fant CPR/AED	Spring 2014	(\$120 p/h)	3	\$360.00
Lee	Geral	WMHS	Reflexology and Your Health	Spring 2014	(\$20 p/h)	7.5	\$150.00
Weilbacher	Eileen	WMHS	How are Genetically Engineered Foods Affecting Our	Spring 2014	(\$20 p/h)	6	\$120.00
Match	Robert	WMHS	Wellbeing Basic Home Repairs	Spring 2014	(\$20 p/h)	12	\$240.00
Gessner	Linda	WMHS	Interior Design - Part 2	Spring 2014	(\$20 p/h)	8	\$160.00
Gilbert	Pamela	WMHS	Introduction to Feng Shui	Spring 2014	(\$20 p/h)	10	\$200.00
Cheeseman	Ellen	WMHS	Country Western Line Dance-	Spring 2014	(\$20 p/h)	12	\$240.00
White	Martin	WMHS	Beginners Country Western Line Dance-	Spring 2014	(\$20 p/h)	12	\$240.00
Cheeseman	Ellen	WMHS	Beginners Country Western Dance for Couples/	Spring 2014	(\$20 p/h)	12	\$240.00
White	Martin	WMHS	Partners Country Western Dance for Couples/	Spring 2014	(\$20 p/h)	12	\$240.00
Danette Gallogly	Creative Voices	WMHS	Partners Getting Paid to Talk: Introduction to Professional	Spring 2014	(\$43.75 p/h)	2.5	\$87.50
Horney,	Michael	WMHS	Voice Overs Intro to	Spring	(\$20 p/h)	1	\$20.00
D.C. Horney,	S. Michael	WMHS	Hypnosis Weight Loss	2014 Spring	(\$20 p/h)	1	\$20.00
D.C. Fleckstein	S. Kerry	WMHS	Stress Management Through	2014 Spring 2014	(\$20 p/h)	1.5	\$30.00
Bradley	Robert	WMHS	Nutrition Brain Exploration and	Spring 2014	(\$20 p/h)	2	\$40.00
Bradley	Robert	WMHS	Meditation Alexander Technique-	Spring 2014	(\$20 p/h)	2	\$40.00
Mazeau	Sue	WMHS	Beginners Aerobics -	Spring	(\$30 p/h)	20	\$600.00
Mazeau	Sue	WMHS	Afternoon Aerobics -	2014 Spring	(\$30 p/h)	20	\$600.00
Meci	Lucille	WMHS	Evening 20/20/20	2014 Spring	(\$20 p/h)	6	\$120.00
Reass	Marcia	WMHS	YOGA	2014 Spring	(\$35 p/h)	6.25	\$218.75
Cotty	Hugh (Jim)	WMHS	Volleyball- Bump, Set,	2014 Spring 2014	(\$30 p/h)	15	\$450.00
Reass	Marcia	WMHS	Spike! Mindlfulness	Spring	(\$35 p/h)	2.5	\$87.50
Magic	Dance	WMHS	Meditation Zumba	2014 Spring	(\$40 p/h)	8	\$320.00
Ballroom *** This was		oard approved	Zumba on 2/12/2014 as a	Spring 2014	(\$40 p/h)	8	\$320.

Home Tutoring							
Boltrek	Chris	WMHS	Home Tutoring	3/20, 4/4, 4/11, 4/25	\$ 44.26/hr	8	\$354.08
Buhler	Laura	WMHS	Home Tutoring	4/8/2014	\$ 44.26/hr	2	\$88.52
DaVanzo	Matt	Setauket	Home Tutoring	4/22, 4/23, 4/24	\$ 44.26/hr	5	\$221.30
Marley	Elise	Murphy/The Academy	Home Tutoring	3/25, 3/26, 3/27, 3/28, 3/31, 4/1, 4/2, 4/8, 4/9, 4/10	\$ 44.26/hr	5	\$221.30
Roarty	Karen	The Academy	Home Tutoring	4/7, 4/21, 4/22, 4/28	\$ 44.26/hr	5	\$221.30
Writing Committee							
Lamiroult	Brenda	North Country	Elementary Writing Committee	10/3/2014 - 4/23/2014	\$ 45.56/hr	10	\$455.60
Martindale	Kristianna	North Country	Elementary Writing Committee	10/3/2014 - 4/23/2014	\$ 45.56/hr	8	\$364.48
			APPOINTME MMER ASSIC				

<u>Last Name</u>	<u>First</u> Name	Building	Assignment	<u>Effective</u>	<u>Rate</u>	Not to Exceed
Summer Enrichmer						
Grottola	Amanda	Mount	Summer Enrichment Assistant	7/1/14 - 7/11/14	\$ 15/hr	\$750.00
ESY Program			Assistant			
Aguinaga	Christina	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Alaimo	Donna	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Alberti	Cathy	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Alhofen	Patti	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Brennan	Jamie	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Broome	Tara	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Burger	Susan	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Calandra	Rob	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Candela	Laura	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Carey	Robin	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Carr	Cristina	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Catizone	Christina	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Colantuoni	Michele	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per diem	Teacher
Connors (Rec prog)	Jessica	Arrowhead	2014 ESY Program - 2014	8/11/14 7/1/14 - 8/11/14	\$ 15.50/hr	TA
Dawes	Melissa	Arrowhead	ESY Program -	7/1/14 -	\$ 15.50/hr	TA
Degamon	Jessica	Arrowhead	2014 ESY Program - 2014	8/11/14 7/1/14 - 8/11/14	\$ 15.50/hr	TA
DeSantis	Christina	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Doherty	Kelly	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Drosselmeier	Theresa	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Fenster	Rob	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Fernandes	Mary	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Fikar	Christen	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Gallagher	Alexandra	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Gallo	Donna	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Greenstein	Max	Arrowhead	ESY Program - 2014	7/1/14 -	\$ 15.50/hr	TA
Haff	Nicole	Arrowhead	ESY Program - 2014	8/11/14 7/1/14 - 8/11/14	\$ 15.50/hr	TA

Helenek	Lynda	Arrowhead	ESY Program -	7/1/14 -	\$ 15.50/hr	TA
Horn	Melissa	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 275 per	Teacher
Iannotto	Kim	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 15.50/hr	TA
Jekielek-	Lucyna	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 15.50/hr	TA
Woznicki Lauritsen	Eric	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 275 per	Teacher
Lumley	Marissa	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 15.50/hr	TA
Maltaghati	Jackie	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 275 per	Teacher
March	Lee Ann	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 275 per	Teacher
Marino	Laurance	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 275 per	Psychologist
Mason	Dawn	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 325 per	Principal
Maurer III	Alan	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 15.50/hr	TA
Mazzone	Kristina	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 15.50/hr	TA
McCabe	Kimberly	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 275 per	Teacher
McHugh (Rec	Karen	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 15.50/hr	TA
prog) Montazem	Samantha	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 15.50/hr	TA
Oestreicher		Arrowhead	2014	8/11/14		Teacher
	Tammy		ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Orlowski	Steve	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	
Perotti	Jenna	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Portuallo	Jean	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Pulaski	Joe	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Rizzo	Maria	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Russolillo	Grace	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Salazar	Jose	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Psychologist
Santiago	Vicki	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Savage	Harry	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Shecter	Susan	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Smith	Nicole	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Stursberg	Cathy	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Toop	Diane	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Warren-Barbieri	Kathy	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Washington	Nicole	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 275 per diem	Teacher
Wegenaar	Nancy	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Wennerod	Kristen	Arrowhead	ESY Program - 2014	7/1/14 - 8/11/14	\$ 15.50/hr	TA
Wilhelmy	Samantha	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
Yasson	Carol	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 15.50/hr	TA
Yasson	Laura	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 15.50/hr	TA
			2014	8/11/14		
Substitute List						
Alexander	Dawn	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
Bartolotta	Sarah	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 275 per	Teacher
Baxter	Nicole	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 275 per	Teacher
Cusumano	Amy	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 13.57/hr	TA
Delorenzo	Heather	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 13.57/hr	TA
Fore	Patti	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 325 per	Principal
Foronjy	Nicole	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	diem \$ 13.57/hr	TA
Gensinger	Bryana	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 13.57/hr	TA
Greenstein	Max	Arrowhead	2014 ESY Program -	8/11/14 7/1/14 -	\$ 275 per	Teacher
			2014	8/11/14	diem	

Heck	Melissa	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
			2014	8/11/14	diem	
Lewkowitz	Marisa	Arrowhead	ESY Program -	7/1/14 -	\$ 13.57/hr	TA
			2014	8/11/14		
McGrath	Alyson	Arrowhead	ESY Program -	7/1/14 -	\$ 13.57/hr	TA
			2014	8/11/14		
McGrath	Alyson	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
	•		2014	8/11/14	diem	
Metelinis	Michelle	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
			2014	8/11/14	diem	
Peters	Toni	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
			2014	8/11/14	diem	
Petitto	Susanne	Arrowhead	ESY Program -	7/1/14 -	\$ 13.57/hr	TA
			2014	8/11/14		
Reduto	Daniela	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
			2014	8/11/14	diem	
Shea	Jennifer	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
			2014	8/11/14	diem	
Tarabocchia	Christina	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
			2014	8/11/14	diem	
Vecchio	Jennifer	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
			2014	8/11/14	diem	
Wilkom	Michelle	Arrowhead	ESY Program -	7/1/14 -	\$ 13.57/hr	TA
			2014	8/11/14		
Yavorka	Stephanie	Arrowhead	ESY Program -	7/1/14 -	\$ 275 per	Teacher
	•		2014	8/11/14	diem	

EXTENSION OF RETIREMENT BENEFITS

Name	Assignment	Effective Date	Date Of Hire
McManus, Patrick	Science Chairperson R.C. Murphy Junior High School	7/1/15	9/1/01

Mr. McManus' one-year retirement extension eligibility is pursuant to Article XV, D, of the contract between the Three Village Central School District and the Three Village School Administrators Association.

On motion by Mr. Connors, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RESIGNATION

<u>Name</u>	School/Assignment	Effective Date	Length of Service
Tyrrel, Michele	Ward Melville High School	5/19/14	9 yrs 8 mo
	Part Time Food Service Worker		

APPOINTMENT TO NON-INSTRUCTIONAL POSITION

Custodial

Casella, Thomas Custodial Worker I (Step 1/Level 1) Arrowhead Elementary School Replacing: Nicholas Azus (reassigned) Related to current employee: No

Annual Salary: \$44,245 Effective: June 5, 2014

Mr. Casella is currently a substitute custodian in the District. Fingerprinting clearance has been received and is on file.

CHANGES OF STATUS NON-INSTRUCTIONAL STAFF

Custodial

Borny, Richard

From: Custodial Worker I (Step 12/Level 1) To: "Acting" Head Custodian (Step 12/Level 5)

Minnesauke Elementary School

Replacing: Lawrence Aupperlee (temporarily reassigned)

Annual Salary: \$70,097 (prorated) Effective: March 13, 2014

Mr. Borny assumed the role of "Acting" Head Custodian at Minnesauke Elementary School due to the temporary reassignment of Lawrence Aupperlee.

Borny, Richard From: "Acting" Head Custodian (Step 12/Level 5)
To: Custodial Worker I (Step 12/Level 1)

To: Custodial Worker I (Step 12/Leve Minnesauke Elementary School Annual Salary: \$60,977 (prorated)

Effective: April 14, 2014

Mr. Borny assumed the role of "Acting" Head Custodian due to the temporary reassignment of Lawrence Aupperlee. He is returning to his previous position.

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Custodial

Murray, Christopher Salary-\$11.42/hr. Effective-6/05/14

Fingerprinting clearance has been received and is on file.

Guards

Gleberman, Charles Salary-\$17.94/hr. Effective-6/05/14

Fingerprinting clearance has been received and is on file.

O'Donnell, Michael Salary-\$17.94/hr. Effective-6/05/14

Fingerprinting clearance has been received and is on file.

Monitor/Special Education Aide

Hunter, Elizabeth Salary-\$11.42/hr.

Effective-6/05/14

Ms. Hunter is the daughter of Kathryn Hunter, a teacher at Minnesauke Elementary. Fingerprinting clearance has been received and is on file.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last</u> Name	<u>First</u> Name	Building	Assignment	Effectiv e	Rate	<u>Hours</u>	Not to Exceed
Smith	Cara	Minnesau ke	1:1 supervision for grade 6 field trip 6/3/14 to Club Getaway in Connecticut	6/3/04	Regular hourly rate		\$200.00
Deturo	Kathy	Mount	Chaperone for Mount Putting on the Hits	5/9/14	\$40.48/ hr	3 hours	\$121.44
Sigillo	Diane	Mount	Chaperone for Mount Putting on the Hits	5/9/14	\$40.48/ hr	3 hours	\$121.44
Veraldi	Susan	Mount	Chaperone for Mount Putting on the Hits	5/9/14	\$40.48/ hr	3 hours	\$121.44
Williams	Donna	Mount	Chaperone for Mount Putting on the Hits	5/9/14	\$40.48/ hr	3 hours	\$121.44
Carpenter	Mary	Mount	SEA Student Supervision Field Trip	5/8/14	reg hourly rate	10	14 hours
Eveline Webb	Debbie	Mount	SEA Student Supervision Field Trip	5/8/14	reg hourly rate	10	14 hours
Fucci	Lisa	Mount	SEA Student Supervision Field Trip	6/3/14	reg hourly rate	10	14 hours
Hirsch	Jen	Mount	SEA Student Supervision Field Trip	6/3/14	reg hourly rate	10	14 hours
Toto	Jennifer	Mount	SEA Student Supervision Field Trip SUMMER ESY	6/3/14	reg hourly rate	10	14 hours

PROGRAM APPOINTMENTS

Last Name	First Name	<u>Building</u>	<u>Effective</u>	<u>Title</u>	Rate
Aramanda	Doreen	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Bell	Robert	Arrowhead	7/1/14-8/11/14	Security	\$17.94 per hour

Blekicki	Nancy	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Buzzanca	Courtney	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Choonawala	Sakina	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Clyne	Theresa	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Crepeau	Tara	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Dielman	Susan	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Donin	Alexis	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Farrell	Ryan	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Feldman	Nancy	Arrowhead	7/1/14-8/11/14	Nurse	\$20.00 per hour
Fucci	Lisa	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Garzilli	Tara	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Gresch	Maureen	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Haselton	Patricia	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Hirsch	Jennifer	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Homan	Debra	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Kelly	Kelly	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Maffetone	Elizabeth	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Martino	Sophia	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Mason	Alex	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Murphy	Jennifer	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Patterson	Debra	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Scharrenbroic	Kaitlyn	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
h					
Stewart	Wanda	Arrowhead	7/1/14-8/11/14	Security	\$17.94 per hour
Zager	Cherie	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Zyller	Debbie	Arrowhead	7/1/14-8/11/14	SEA	\$13.50 per hour
Substitutes					
Blatny	Ivana	Arrowhead	7/1/14-8/11/14	SEA	\$11.42 per hour
DeSciscio	Letitia	Arrowhead	7/1/14-8/11/14	Nurse	\$20.00 per hour
Gallagher	Loretta	Arrowhead	7/1/14-8/11/14	SEA	\$11.42 per hour
Petitto	Susanne	Arrowhead	7/1/14-8/11/14	SEA	\$11.42 per hour

On motion by seconded by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: February 11, March 5, 7, 11, 20, 26, 28, 31, April 2, 4, 9, 10, 11, 22, 23, 24, 25, 28, 29, 30, May 2, 5, 6, 13, 15, and 21, 2014

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: March 18, April 8, 23, 29, May 1, 6, 13, and 15, 2014 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

OTHER ITEMS OF INTEREST

There were no Other Items of Interest

PUBLIC PARTICIPATION

There was no Public Participation at this time.

ADJOURNMENT

There being no further business to be conducted, motion was made by Mr. Connors, seconded by Mrs. Mendelson, and carried by a 7-0-0 vote to adjourn the meeting at 8:50 pm.

Respectfully submitted,

Kathleen Sampogna District Clerk